
www.eurobib.com
1 / 32

E21300 - Gaming Wall

First check the contents to make sure that nothing is missing. Sort out the screws and fittings as shown.
Assemble your furniture step by step, as shown in the illustrations.

2019.02M 19.1



S
T

 1
0

1
2

 0
U

0

2x C

2x D

1x A1

S
T

 7
4

1
0

 1

1x E

S
T

 7
4

1
0

 2

S
T

 7
4

1
5

 2
0

0

S
0

 7
4

1
9

 2

2 / 32

2x A2

Assembly Guide

www.eurobib.com

2x AC

ST 7416 SU

1x B1 1x B2

S
T

 7
4

2
4

 2

S
T

 7
4

2
4

 1



3 / 32
www.eurobib.com

1x H1

1x H2

1x H3

Assembly Guide
ST

 7
41

2 
M

U

ST
 7

41
2 

U
U

ST
 7

41
2 

O
U



1x I3

1x I2

1x I1

www.eurobib.com
4 / 32

Assembly Guide

S
T

 7
4

1
3

 O
U

S
T

 7
4

1
3

 U
U

S
T

 7
4

1
3

 M
U



SSF 100 490 06030 3

www.eurobib.com

Ø
8
x
3
5

SSF 100 901 06 3

SSF 100 100 06 3

M6 8x G

SSF 300 300 63 70 3

SSF 100 410 06010 3

5 / 32

S
S

F
 3

0
0

 1
2

1
 9

5
 9

SSF 100 200 06070 3

SSF 100 410 06030 3

4x U

SEZ 426 000 80 2

S
H

 1
1

3
9

 S
W

4
0

 3

1x AD

S
H

 1
2

1
7

 0
0

1
 2

S
H

 1
2

1
7

 0
0

2
 2

M6x70 4x F

SSF 100 490 06030 3

1x Z

1x AA

8x W

S
S

F
 3

0
0

 1
1
1

 3
4

 3

Ø10

4x16

SH 1105 001 2

SSF 150 200 04016 3

S
T

 7
4

1
4

 1
 0

3
0

M6x10

M6x30 Ø4.88x P

8x O

16x N16x M

32x L

2x K

12x Q

16x T

8x S

27x R

2x X

4x Y

Assembly Guide

S
S

F
 3

0
0

 9
0

0
 0

8
 0

3
5

M6x30

1x AB

S
H

 1
7

8
2

 5
M

4x16

SSF 100 200 04010 3

32x J

3x16

SSF 150 200 03016 3

4x V

4x35

SSF 150 200 04035 3

4x AC

2x AE

SSF 100 510 06070 3

5x55 4x AD

SSF 150 200 05055 3

M6x70



www.eurobib.com

Assembly Guide

6 / 32

M
M

J

J

J
J

J

J

J

M
M

J

x2

D

C



F

Assembly Guide

7 / 32

1 2

E

G

G

G

G

F

F

F

www.eurobib.com



www.eurobib.com
8 / 32

Assembly GuideAssembly Guide

90°

A1

X

L

L

www.eurobib.com

x4

R S

R

T

N

Q

Q
Q

Q

H3



www.eurobib.com
9 / 32

www.eurobib.com

Assembly GuideAssembly Guide



180°

L

L N

x2

Z

X

www.eurobib.com

Assembly Guide

10 / 32

H2

R S

R

T

T

T

T

T

W

W

W

WU

U

U

U

W

W

W

W

G

G

G

G

Z



1

www.eurobib.com

Assembly Guide

11 / 32

2



Q

Q

Q

Q

Q

Q

NL

L

Q

T

T

H1

www.eurobib.com

Assembly Guide

12 / 32

180°

A2
A2

Q



www.eurobib.com

Assembly Guide

13 / 32

3



www.eurobib.com

Assembly Guide

14 / 32

21

2

2

1

1

Clips !!

TV
HDMI / 220V!!

3



V

K

V

V

IR

www.eurobib.com

Assembly Guide

15 / 32

AA

V

AD

AD

B1



AA

RGB

+

www.eurobib.com

Assembly Guide

16 / 32

IR

LED Driver



+

5m.

LED Stripe

AB

AB

+

RGB

www.eurobib.com

Assembly Guide

17 / 32

RGB



IR

Gaming Box

www.eurobib.com

Assembly Guide

18 / 32



www.eurobib.com

Assembly Guide

19 / 32

P

P

P

P

P

P

P

P



T

S

R

I3

20 / 32

Assembly Guide

www.eurobib.com

L N

90°

R

L

B2

AC

AC



21 / 32

Assembly Guide

www.eurobib.com



R

L

NL

T

S

R

I2

22 / 32

Assembly Guide

www.eurobib.com

180°

T

T



23 / 32

Assembly Guide

www.eurobib.com



L N

L

T

T

I1

24 / 32

Assembly Guide

www.eurobib.com

180°



2

1

1

1
2

2

25 / 32

Assembly Guide

www.eurobib.com



Y

1
0
0

O

O

O

O

O

O

1
3
5

1
3
5

O

1
0
0

O

26 / 32

Assembly Guide

www.eurobib.com

Y

Y

Y



AE

AE

Assembly Guide

www.eurobib.com
27 / 32

AE
AE



R

2
AC

3

1

AC

R

R

R

R

www.eurobib.com

Assembly Guide

28 / 32



4
Clips !!

180°

29 / 32

Assembly Guide

www.eurobib.com



R
1

AC

30 / 32
www.eurobib.com

2

3

Assembly Guide

R

!



Assembly Guide

180°

www.eurobib.com
31 / 32

5 Clips !!

4



32 / 32
www.eurobib.com

Assembly Guide


